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| J8T STAT
i (BENGALI)-
2018
STATISTICS
* Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
All Questions are Compulsory.
Total Questioﬁs : 25 Nos.
- Q. No. 1 carries 1 mark eacl 1x12 = 12
Q. No. 2 to Q. No. 17 carry 3 mark eacl: 3x16 = 48
Q. No. 18 to Q. No. 25 carry 5 mark eacl 5x8 = 40

Total = 100
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1o ,Answer as dlrected W iy | ' i ‘ i s 1X12=12 |

@I f (X) k where 'k’ is constant then A f (x) 1
M fo)=k, ERE k' @B g5 o A2 F(x)=?

®) lee one example of certain event. 1
SIRACR: er e i CRIZAT WS |

o6y “For Complete Census, Samphng error is always zero”’.
State : False or True
S iR maﬁm—%w 0.
j % 7 o T d@| 0

(d) Find the value of Alog . | 1
A log x-49 V¥ &F @ |

(¢)  State under what condition V(x)=0. | 1
fF *1S MATF V(x)=0 = B

()  State any one Characteristic of Poisson distribution. 1
Poisson IV (3 (A GG @RS S @ |

(§) State any one assumption of Numerical integration, 1
TRANE SIS CFCA (T (e 905 Sfoaze e & |

(). What do you mean by “level of significance” ? 1
“SLFel B FIO I Q@R 2

(1)  State any one uses of chi-square test. 1

IR TP (T (A GBI GAAED S [

(i) ~ “For Binomial distribution, mean and standard deviation are equal”’.
State : True or False 1

“fasiv DA CF@ 1T 8 AN [oem A" — 25 3 Fum Ty &l
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(k) 'Deflne"'Staﬁstjéal HYPOtheS!_iS".. Senode s Ty Ealin & _"1 |
ek U | i | e -
(D) | State the name (any one) of Random Number Table.
T CPICATT 421D ifoegs izt eifereiar <1 e A |
'2, Prove that (et ) @) s 3
3 h 2 g ’ '
e *= A_ e X Ee*
[ EJ S A%ex

3. Write the Newton's forward i_nterpoiation formula and state its assumptions.
'mwﬁﬁmmmmeﬂawﬁmwmml 3
4. Given (783 9iR), |
x 3 7 9 10
flx) : 168 120 72 63
Find (& 3@ ) f(6).
Use interpolation (STETHd (IR F). 3

5.  What do you mean by Numerical integration ? State any one rule of
Numerical integration. 3

RIS ST IECo I @R 2 & G G RIS e AT
El|

6. If A and B are two independent events. (I A 8 B 75 o <oA1 2¥) Given
that ( (ST |R), 3
P(A)=1, and (&%) P(B)=;

Find (& F@&l)

() P(A+B)

i) P(AB)

i) P(AB)

28T STAT (BENG) [3] Contd.



11.

12.

13.

10.
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An unblaSEd coin is tossed until head appears. Find the eXPeCted number I
of trials. 3

Lﬂﬁ"wﬁmw R mmemmﬁwquwamﬁ'mﬁ‘ﬁWl

Define Random variable, Probab1hty maso function, Probability den31ty
function. 3

A BT, eIl B ToH, Feiel Ty e — e WS |

Prove that for any two Events A and B.

P(AB)s P(a)< P (aUB)= P (4)+ (5) i
~ASE (F e 75 TR T, e @l @,
P(AB)< P(A)<P(AUB)< P (A)+ P(B).

3

Find the mean of Binomial distribution.

2o IO T (@@ I |

For a Poisson distribution, variance is 2, find P(X = 2), P(X = O)) P (X >2)-
3

Poisson I (FF(q [oId W 27 =
P(X=2), P(X =0), P(X >2)-<d

T & <

e IR e 2 =0-135

Under what conditions, Binomial and Poisson distributions tends to Normal

distribution ? 3

JY =% AACT 39 8 Poisson I54 Tsllel IG BICR D 2

Explain, Large sample test for significance of mean.

T ST Ty g8 eAfonrei@ Tal AATTF I A |
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16.
17.

18.

19.

'State the uses of ‘¢ test.
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A coin 1s tossed 400 time

that the * “the, com is u S and head appears in 220 trials. Test the hypothes1s

nbiased”’. 5 AR k)

U Rt vt
Given that ((weyy W@Z) :

Pr(|z| <196 )=005

3
- TR R S |
Sta’cec:f the advantages. of sample survey over complete enumeration. 3
ISl IR (A T ﬂ?cﬁ’ﬁﬁa ARTE T @& |
State the Simpson’s %rd rule for Numerical integration. Hence evaluate
b odx
J‘o 1+ x2 and also estimate the value of . 5

1

. dx

TRAISF ST (0@ Preiiea % Hawfoa T @l | @@ (AT f [ 2
0

A T @RS 7 -7 A AN R

State and prove Multiplicative Law of Probability. 4+1
TPIROR @dle Oy BrEd TR GR G AN T

Under what condition (state)
E(X,Y)=E(X).E(Y)

F) *S ANCATE (T )
E(X,Y)=E(X).E(Y)
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20. Two urns contains respeétively 6 red, 5 white and 4 red, )
- ball is transferred from the first urn to second urn and then a ball is drawn

21.

22,

23. -
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3 white balls. .Onev”_ ‘

randomly from the second urn. What is the probability that the selected
5

ball from the second urn is red ? . -

wio AfTCS T 6 =9, 5%37@@41%%,»3%311&7@@'3‘2"‘ A e
@ A G <1 S e S % @R SRl G < Ao T e

| A R I 2| RS AR (e Ron < @S AW 2 TSI

TS 9

(@) Prove that (N9 FE @)
P(a/B)+ P(A/B)=1.

®) If @MW) X~N(u=60, c=5)
Find ( &3 &)
@ P(X>75)
(i) P(50 <X<55)
(iii) P(X< 65).

(a1) State the uses of Pilot Survey.
s ef<es SR AR TP T A |

(b) Distinguish between simple random sampling with replacement and
3

without replacement.

Ao @ SreifoFe AlRe Aoes TAIF A AL TR |

Show that in case of Simple Random Sampling, sample mean is an unbiased

estimate of population mean.

State the advantages of Stratified Random sampling.
3+2

I8 (T, R AYoE FIHIR CRCE TG NG G ATEATSRI Sl 5T
ST | BATS WG TR FRLPZ S FA |

28T STAT (BENG) [6]



http;//www.elearninginfo.in

[ 24 For a 2x2 contingency table, the observed frequencies for the classes are’

25.

given as follows. - | . 5
al|b |

cl|d
Give the formula for calculating thé Val_ue of ‘zz(chi—sq‘uare); ;
ox0 SRTEIAT Tfte Rfen (g rcarmsletE Mo (ed =)

' al|b L)
c d

— AT 2 (SAETR) Sowm T T |

For a random sample of 16 Values from a normal population glven the
following information—

el SR I CW16WQ¢%WW wﬂ]@%{ﬁtﬁ real 2
Y X =664, ¥ (X - X) =135

Test the hypothesis that the sample is drawn from a normal population

with mean 43-5. 5

v SR T oIT 435 (AE PRI o e S T |
Given that (7S 9(R)

toos asd.r) =2131.
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